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16th International Mathematics Primary Contest (Taiwan)
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1. As shown in the figure on the right, set AABC inscribed in a circle, the
bisectors of ZA and /B intersect at I, and the arc of BC intersect at D,
verifying: DB=DC = DI

FAr L Bl XAABC 3230 - Fl 0 ZAhT 2 M LB 0T &3t o

<fE$7> R A
D L=22 A
.9 BD=3 CD I
PO —— T~ ~ 1
..DB=DC ] 5 g
@ /3=/4 y
D

S L+ L3=24+ 45
= /1+/3=/BID » /BID= /DBI

..DB=DI > | DB=DC =DI

2387 2P 4192 5 224 ehi

<f%$7>

1224=2"x7

UL 2R 4192=2°(2"0 + 6)=

2[R -D+D)]=2[(87 -1+ 7]=2" xT[(8* + 8" +.....+8+1)+1]
=224[(8" +8¥ +....+8+1)+1]

2P 4192 & 224 iz #kc

3.(DH)FBARE <2,3>=9 > <3,4>=17 » <4, 5>=27 » <5, 6>=39 » <6, 7>=?
(2)p = DALEfRE
<f%$7>
(1)<2, 3>=2X3+3=9
<3, 4>=3 X4+5=17
<4, 5>=4 X 5+7=27
<5, 6>=5X6+9=39
<6, 7>=6 X7+11=53
(2) %

¥ 1L F/£12F



¥ 127 /%

12 F





